
Subject: Re: Not using all processors?
Posted by syncmaster4 on Tue, 23 Sep 2008 21:00:44 GMT
View Forum Message <> Reply to Message

That worked great - each instance of "cat /dev/zero > /dev/null " consumed 100% of a single cpu
allowing the server to collectively go to utilization of 1, 2, 3, etc for each simultaneous instance
above.  This was the expected result - more CPUs processing the work.

I'm beginning to think this has something do do with mysql threads and am investigating that now.

A question, can the CT can see and utilize multiple CPUs or do they see 1 CPU (with the
combined power of all .  I ask because Windows Virtual Server "shows" only one CPU to the VM
on multi-cpu systems.

Thanks!
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